[ Efficiency vs vertpos |
0.5

L IR S S S—

I S — S— S—
TS OSSN S A

0.3F++reeeeiernreneens e e
0.2 -+ eeerieeseneenene e # ------------
0.2 oo oo e oo
I SERRTR A NS, S0 S
5 SENNE SN S —
0.05
10f

G125 B R SRR OF Y

4
e e i = SEEEE P N R A

0.0 .
1072 107 10?

—=— /data2/legianni/BDT-vs-DNN/real-BDT/CMSSW_13_0_0_pre4/src/runrem/DQM_TT__mkFit_

Efficiend —— pQm_TT_ mkFitRETEST_

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.

[y

iy

0.9

°85 =20 -10 0 10 20 30

[ Efficiency vs. sim PV z |
0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1




	Contents
	Page 1


